Plaun a plaun

Thomas Stabenow

- P He - i
IR T IR RN —
_q'_4 / / / / =
. o~
y.4 J /) ad
= o
= o
v
- . . A~ - . - A~
S 22 o0 oL o ,0 L S ePo,0
A L I I 7 I 2 I 7 I i
y4 . I
S :
— -
22 o0 e %o ,0 TP e ® N\
raX I | r J ©
hd " | / | | | O .
h -~ | [ .
I | | O
o Ve
Am FA Am Bm7b5 E’
Ar
. 4 V4 V4 4 V4 4 4 4 V4 V4 4 V4 V4 V4 4 V4
l\f_v\\ D 4 4 4 4 y4 7z 4 7z 4 4 4 4 4 4 7z 4
J KX
Am Bb2 Bm7> E7 Am
N
V4 V4 V4 V4 V4 V4 V4 V4 V4 V4 4 V4 4 V4 4 V4 .
4 4 4 4 y4 4 4 4 y4 4 4 4 4 4 4 4 .
’

8 bars walking changes on (2)
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8 bars head (1) - 6 bars from (3) - coda
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